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16junl12 tilt sensor pitch — LinearFit vs za (raw dat)
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16jun12 azswings(raw data) PITCH — (cO+cl*az from fit)
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16jun12 roll az swing. solid

:data, dash:fit

0.2

0.1

0.0

\H\\H\N‘\HHHH‘HHH\H

—0.1

-0.2

HHHH‘/HHHH‘(

-0.5

\\H‘/H\\H\‘/‘“\HHHH‘HH\HH

\HHHH‘V\HHH |

100 200
az
Roll = —0.3555 + 0.0000*za —/.98e—06x*az
za: 2.0 0.0037xsin( az — 26.0) +
0.0423*sin(3az — 129.7)
Roll = —0.2756 + 0.0000xza +2.40e—0/*az
za: 5.0 0.0020%*sin( az — 12.2) +
0.0435%sin(3az — 130.7)
Roll = —0.2564 + 0.0000xza +5.4/e—06xaz
za: 8.0 0.0021xsin( az — 337.5) +
0.0432xsin(3az — 127.6)
Roll = —0.1605 + 0.0000*za +/.89e—006x*az
za:11.0 0.0022xsin( az — 329.5) +
0.0419%sin(%az — 123.5
Roll = —=0.1221 4+ 0.0000*za +6.52e—06x*az

za:14.0 0.0030%*sin( az — 327.2) +
0.0405%sin(3az — 117.7

Roll = —0.0629 + 0.0000%xza +/.95e—06x*az

za:17.0 0.0031*sin( az — 317.6) +

0.0389%*sin(3az — 112.9

0. + 0. C

+



pitch

pitch residual [deg]

16jun12 azswings PITCH residuals vs az
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16jun12 azswings ROLL residuals vs az
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